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X
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16%

32%
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A01-001 448 LI B 1,900
L=1.9km

A01-002 265 LI B 1,350
L=1.35km

A01-003 219 LI B 2,900
L=2.9km

A01-004 265 LI B 3,800
L=3.8km

A01-005 388 LI B 950
L=0.95km

A01-006 265 LI B 2,450
L=2.45km

0000687846
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A01-007 327 LI B 1,400
L=1.4km

A01-008 388 LI B 1,550
L=1.55km

A01-009 503 LI B 1,000
L=1.0km

A01-010 218 LI B 2,450
L=2.45km

A01-011 265 LI B 1,750
L=1.75km

A01-012 325 LI B 600
L=0.6km
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A01-013 503 [ B B 3,400
L=3.4km
A01-014 222 [ B B 650
L=0.29km
A01-015 L=4.9km [ B B 1,300
A01-016 388 [ B BN B B 550
N o0 |
N o0 |

0000687846
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€)) 295

() 0

(c=a+b) 295
@ 0

© 108

® 187

@ 71

(h = c+d-e-f) 0
(i = (g+h)/(c+d)) 24.06

10

0000687846



0000687846



(B 3) (

- 70 EEEPNIZET DB OSHIPIS  RIRTEOHEE BhK - Zed)
D6~ 04 (5 4EMH)

S TLHRE IR

(M 20 17 3 JTMEE)

y = (.

= o - —
i § _ | a2 EE3258
TR EE AR EEREAR TN
s
A10 EliE218%5 ff
EE-R R ERRAR R

i
A-13 BEL#ES03 5
KRR R - E BRRAH R

i D
‘ -
P j// !

<7 —
¢ {
A1 Ei2655 )= =
R ER - ERRANE x:
'

Y

e
-
2

be
Gl
’ -
r‘» =
SR X
St i
= et
~J ~ E
t i A-06 26558 i
= 2, { AE-BE B ARE L
\ —
P A N\
L L N
5
A\
2 | ke X
/ [ AN
N\ ~, -
% -

N Aos Eii2esE
| R R R

A3 EENIE
- AESERRER R

g" A2 Eiﬁzss‘%«} )i
AR ERTARE

= s

s
s

)
e

WARSWH-REER TUE+IBE

Zorw ‘
TTeE
aigus
x]
CAFLTNCE LI B 3 3
3 ) e
% w £ a0
EX ] WA A @ =
] o LI War ‘
& 5w . AL £
= F ) Fuwle ] =
3 e AR 3
R o = w o ] =
i ] L] ) )
Ewez L3 = Ew i ]
L BT EE ) [
3 L} L] r &
LA K g L Ewn e LA
Hinrpam L] * aay ]
AR AR = RS B ae sns mAREE
Tiol s m T8 s i w Ena FEEE ]
i feares 3 oy s 5rs Zoms
= oo 1.3 3 ar L2 mos XS
01 Eifi4485 ERNCE L T £} £l " ® FRLE 3
P i wun (3 3 ol [} ioas
i BT W 3 N Y ] [ )
TN 0 FN O L3
il e s Ew CEEE)
N R




